
THEME 5 INSPIRATIONAL PEOPLE LISTENING SKILL (ERKAD) 

A. Listen to the recording and fill in the blanks according to the information (Tapescript 38) 

Age : 

Build : 

Height : 

Hair types :   

Other features : 

Appearance : 

B. Listen to the conversation and fill in the blanks. (Tapescript 41) 

Renda : What do you think about being famous? 

Ayşe : __________________________, it is not good to be famous. 

Renda : Why? 

Ayşe : ____________________________, too many people always follow you. They want to talk to you and they want to take 

your photo. It is more difficult to be famous than to be an ordinary person. 

Renda : ________________________. It is great to be famous. __________________ people are always nice to you and you 

have a lot of money. You know George Watson, don’t you? He is my favourite celebrity. Everybody knows him. There are 

always a lot of people around him. He can buy whatever he wants because he is rich. ___________________ he is the most 

handsome and the best actor. 

Ayşe : ________________________!  Bob Swan is more handsome than George Watson and is a better actor. Bob Swan is 

younger than George Watson. 

Renda : ________________________! I think vice versa. George Watson is younger than Bob Swan, but he is still a great 

actor. ____________________________, he is more outgoing than Bob Swan. 

Ayşe : I’m afraid, _________________________. He never talks much during the interviews. Bob Swan is more outgoing 

than George Watson but they are both very famous and handsome. 

Renda : _____________________________! They are both very famous and handsome. 

C. Listen to the conversation again and fill in the table. (Tapescript 41) 

Name     What is he like?    What does he look like? 

Bob Swan  

George Watson     

D. Listen to the conversation again and write True or False. (Tapescript 41) 

1. Bob Swan is younger than George Watson.  _____________ _ 

2. George Watson isn’t famous.   ______________ 

3. There are a lot of people around George Watson. ______________ 

4. George Watson is older than Bob Swan.  ______________ 

5. Bob Swan is more outgoing than George Watson. ______________ 

6. They are both very famous and handsome.  ______________ 
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Tapescript 38 

Martin is middle-aged. He is middle-height and overweight. He has got dark hair. 

Jill is young. She is tall and slim. She is beautiful. She has got long curly brown hair. 

Alex is middle-aged. He is middle-height and plump. He is bald. He has got dark skin. 

Rita is medium height. She has long straight fair hair. She is pretty. 

Tapescript 41 

Renda : What do you think about being famous? 

Ayşe : In my opinion, it is not good to be famous. 

Renda : Why? 

Ayşe : I think, too many people always follow you. They want to talk to you and they want to take your photo. It is more 

difficult to be famous than to be an ordinary person. 

Renda : I don’t agree with you. It is great to be famous. I believe that, people are always nice to you and you have a lot of 

money. You know George Watson, don’t you? He is my favourite celebrity. Everybody knows him. There are always a lot of 

people around him. He can buy whatever he wants because he is rich. I think he is the most handsome and the best actor. 

Ayşe : I totally disagree! Bob Swan is more handsome than George Watson and is a better actor. Bob Swan is younger than 

George Watson. 

Renda : That’s not right! I think vice versa. George Watson is younger than Bob Swan but he is still a great actor. In my 

opinion he is more outgoing than Bob Swan. 

Ayşe : I’m afraid, that is not true. He never talks much during the interviews. Bob Swan is more outgoing than George Watson 

but they are both very famous and handsome. 

Renda : I totally agree. They are both very famous and handsome. 
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